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Dip. in Engg. (Sixth Semeste‘r)'
EXAMINATION, Nov.-Dec., 2023
(Scheme : NITTTR)

(Branch : Mechanical)
INDUSTRIAL ENGINEERING AND
PRODUCTION MANAGEMENT

Time-: Three Hours ] e [ Maximum Marks : 70
| [Minimum Pass Marks : 25

Note : Attempt all questions. In case of any doubt or
"dispute, English version question should be greated

as final.
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(a ] .
) Explain the different factors  affect
O 19% o~

] productivity.  Tj .
i iny. —b@ m. 5 . Y Q.
regarding the out Pllowing informay; 1 (b) Define work study. Write the basic procedure and
] consumed fo put produced and biective of method stud 4
below . I a particular company js Input objective of method study.
\ S glven adt wd @ R A | T T @ T
6 : ; 4
: Output | , » yfpar vd stza @ g
h&@OCHN:.ﬁ:H . ’ Q‘
(areran)

Material Inpyt
Capital Input
mzoﬁmv\ bub: ¢
Other Mijsc. Input

Explain different types of production system and .
.mention their impact on productivity.
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2. | (a) Write. 18 Therbligs along with their definition,
. 6

symbols and colour.
e o @ S R, e R @
- fofag |
| Or
(srore) -
n—Threading of m,vmomBg by using

Operatio
Lathe Machine. For above operation draw flow

L process chart.
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() In .m .:.Bn study exercise, the time obser
activity was 54 seconds. The oper.
performance rating of 120, a
allowance of 10% u il

Standard time for the activity.
L T 3Ty
i g T iRy ®
#ﬂ Y 54 Qpog U1y
YR 120, weieer wg ge

INtenarice ?
e srer 6
ST 77 ¢ 7 =
qu HVQNNBO mﬂaun.m St
bility. ) .
function, " ..memE the Reliability
; 4
PRI @J, T %f :E@%

ved for an
alor had o
sl onal time
IS given. Determine the
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10% &1 37t 35 fory
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:m. Mmajor difference
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4, (a) Explain the requirement of good material

handling system. 4

arefl W) gaeA gomel @ Snazamardl
AT BIfAY |

(b) Explain different types of plant layout and also

write their advantages, disadvantages and

limitations. 6
A S & e JaTae o A B AR
T8 am, st aiR G A ferae

. has to go

5. (a) There are seven jobs, each of which
through the machines A and B. Processing time in

hours are given as: 5
" Job Machine A Machine B
| 3 8
02 12 10
3. 15 10
4 6 6
5 , 10 12
6 1 - 1
7 9 2 9w
L B

ine the sequence of these jobs that

* Determ : _
minimise the total elapsed time. Also find tota
time and idle time for Machines A and B.
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WId &1 & R ¥ 9 o T A T B g
foar & @) e W (st ) A9 R wy
g |
| @ | wima |- wdws
- e =
2 12 10
3 15 , 10
4 6 : 6
5 10 12
6 11 1

7 | w‘ : 3
ﬁiﬁﬂ%%@%uﬂg,
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(b) EightJobs1,2, ... > 8 are to be processed on

a single machine. The processing time and due .
date are given below :

ok Processing Due Date _
Time (min.) (min.)

1 5 15°
2 8 10
3 6 ( 15
4 3 25
5 10 20
/A 7 45
8 3 50
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(71

rule :
Determine using SPT and EDD

A\a meam_ sequence
(ii) Mean-flow time .
NEV Average turdin€ss
of Jobs actually late

g i 10 3.9 2 T
[ e | P
Q._& (min.) \.\\.\:ln\_\\\\l
] 15
\\\\q\\\\l 5 10
2 8 15
3 M 25
L 0 i
, 14 R
6 : 45
7 i 50
| ,. \ 0
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-bar ¢
observations : and R-chart for the follow;j
ng
ni
k— : . 5
S Time | Time Il Tim
—UMOEWQOQM —M W ¢ :—
) : 16.1
Observation 11 60 16.0
: ) 16.0 ————
Observation III 158 15.9
: 15.
Observation IV 59 : y 8 15.9.
: 15.9
- - 15.8

As
. sume A;=0.73,D; =0, D, =2.28

- 28n=4,k=3.
frferRag mE” NPl B _wE X-9R .m__m Uq R-ARE &T

nl
k—>
qHy
3qeHHT : EN | 9EEm
_y N -
JqHT . i, 6.1 | 16.0
II 0
16.0 .
16.0
- 15.9

IaANDT
4 I 15.8 e
Qmﬂ_ﬂm - F 15.9
v 159 =
9 | 158

A>;=0.73,D, =
i uow|°u~v&"~.ww="# Wlw
, k=3 |

Define 1
nvento .
ry. Write need and “ad
vantages
of

Invento

ry c

FIF ontrol and also explai

sl : : 1S,
; 5

v
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(9]
e @ oo e e A @
gl AR A ffae @ ABC fgergul, FIFO,
Emo%&ﬂaﬂ%,
or
(arere)
duct per

00 units of 2 PrO

is fixed and known.

er unit per month

to supply 120
er. The demand

costisX 020p
rderis ¥ 350. -

A stockist has
to his custom
entory holding
ering cost PeT 0

year
The inv
and the ord
UQQ.B.En ;
@) The EOQ (Q9)

(i1) Number of order ™)
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project schedule has the following characterig; !
ic

Activity ]

m..M

MWV Muuobmn.:ﬁ the Network
B m.oEE:n EST and LFT for .

Ind the critica] path i
T Yo . _
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(iy “eam a5 |
(i) B e ¥ EST @ LFT @1 el #i |
(iii) shifer ¢ Fraiferg |

_ Or
(o)
A Project Schedule has the following characteristics : 5
) . Most
| Activity waaoma.mmo_. On,in:man Emn_w wm.mmwammgn
Activity | Time (T)) Time | Time (Tp)
(Tm)
A _
B A
C A
D B
E C
F D, E
G D,E
H F
B

(i) Construct PERT Network.

(i) Calculate EST, LET and Variance for each
activity.

(iii) Find Critical p

deviation.

ath and calculate standard

P.T.0.
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Qm‘mﬁaeajqiﬂaﬂﬁwﬁf@aﬁmarﬁaqgg:
TRAR Predecessor| Optimistic
Activity | Time (T,)
A - 2
B A 3.3
C A 8
. D B 9
E C 8
F- D,E 16
G - D,E 19
I G 1

() PERT 3@ qa197 -

ITOrAT Er:ﬂﬁﬂ(q
(mmﬁmwﬁ%wnmﬁaaqaﬁm
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Dip. in Engg. (Sixth Semester)
"EXAMINATION, Nov.-Dec., 2023
(Scheme : NITTTR)
(Brah‘ch - Mechanical)
POWER PLANT ENGINEERING

Time : Three Hours ) [ Maximum Marks : 70

- [Minimum Pass Marks : 25
Note : All questions are compulsory, unless mentioned
otherwise. In case of any doubt or dispute, English

version question should be treated as final. Assume

suitable data wherever required.

W e e ¥, @ a5 we ges Aeda T
forar g1 1 il ft ueR @ WiE W fag & Rafa
# Sl wreT & U b oA wr SR | afe |/
AEaWSH B I, MATFHATAR o < |

P.T.O.



[2]
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> dry and saty Cratin
M 15 bar and Ov_m..m ted stem mbﬂmﬁmWHOmz .zmﬁlﬂ.:o
by ndenser pressure pands Isentrop; the turbjy,
eoretical therm, of 0.05 par ically 4, 50
neglectin al efficie - Calculate 4y .
.@Eﬂ mgl.m ngbcsﬁ work nCy of the ¢ ~o the
. ﬂ ] . Ycle of
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With the help of a neat schematic diagram
describe the construction, working, specific

features and operating parameters of a La-mont

boiler. m
@ﬁ.&gﬁiﬂ#ﬂﬁaa&%
# <, wrfaf, B T8 T FEeA Al o
qui BT
Or
(aer)
Explain the locomotive boilers.
AEmfea daer B FHA |
UNIT—I1I
(gore—11)
What is meant by diesel power plant ? 2
Sioe T WO | 1A 27
_ummosww.mdoi manufacturing and working of
diesel engine powet plant with diagram. 5
Srora SO AR WA @ fyfor v el T
fem avie AR
Wwrite the advantage of gas turbines over 1. C.
engines. 5
arade gl @1 g § i cxarEd @ A
ferfa |
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2
Or . (0y (51 2037672(037)
) : ?Edd , (b) What are the different factors to be considered
A gas turbine boEQ.E,mi Wworks on closed : 7 while sclecting the site for hydroelectric power
NE.omm::w range is 2 bar to 10 bar, The ooEE.oMQm..;n _ plant 7 iy . ’
. oEb.o..meo 1Is 30°C and maximunm tem Sor Injgy N | E@d 947 AT wd M B Tad &
Feited in the cycle is 600° C, pipg the wwasa PRPT R iR awm 2?2
0 .
Quﬂ ~®~.~0-< of MTQ O.wxo~.Q. >mm=5® HE@ OOBU#@M . OD.:& AOV Draw a neat n—mmﬁ.wa of ?%Q—.Oﬁﬂnﬂ.wﬁ power
banston are isentropic, . Slon ang ; ion of its elements 5
T i ] » plant. Explain the function of its elements. ,
e m@wﬁ:ﬁﬁﬁﬁﬁﬂﬁﬂi _ o Rga ol Wi &1 o T @ e
bl %ﬁmgﬂs,cm_,a ?ﬂ%@ﬂ&ﬁ% g faf= saual &1 vF B
600°C & i w: TP 9 S HITT A ot ! UNET=
~ﬂﬂg§m§§§ , (@rE—VI)
TR Bl TgieT q1fiy | IVl 5
UNIT 6. (a) Whatis fluctuation of load ?
—IV | . 4
4 (@ Write the d A_S Differentiate the following :
d ;
Gm%mzﬂmm@m of Nuclear Power Plant . ) Connected load and average load
d load factor
ﬂﬁwﬂdﬂ- v 3 5 2 (ii) Demand ,mmonou.wﬂ
(b) Uﬂimmﬁ.ﬂﬂm%%ﬁ«@.@dx , ‘ . %@@ﬂ%jﬂ@ﬂd%
I , . - .
T R MM&S of nhuclear power plant. "5 G) TG YR 3irTd AR
© Differentiate between fissjon and figj - @ basic elements of controlling
fagues aiky S . on. 5 . <) Briefly explain the bas 4
‘ ) . ; . . 3% Q mﬁmm&_
| EFE—v) __ L
m.. (2) What s the Penstock 7 ’
IRETF T gy 2 2 860
| 2037672(037)
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Dip. in Engg. (Sixth Semester)
E\AMINATION Nov.-Dec., 2023 -
(Scheme : NITTTR)

(Branch : Civil, Elect,, EEE, Inst., Mech.)
ENTREPRENEURSHIP DEVELOPMENT AND
MANAGEMENT

Time : Three Hours ] : [ Maximum Marks : 70

[Minimum Pass Marks : 25

Note : All questions are compulsory. Marks assigned to

each question are given in front of every question.

Unless mentioned otherwise the question carry

assigned marks only. In case of any doubt or

dispute the English version question should be
treated as final.
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UNIT—I
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FFE—1)
UNIT—II

What is entrepreneurship

becom ? Write an . ,
€ a entrepreneur. Y Jour benefyrs (grE—11)

Serfiar
. R . &) What is motivation ? Explain about the motivation

ferRay | 1
2. Wri i Gl
rite  about the followi . cycle. 2+3
entrepre i owing  te
«c.k»anﬁs,u.., TS - related g, o @ & 7 AR W @ AR A T
ﬂ..v WmOﬂH:\ﬂDOmm g A
ii) Pe s
(iii) woacmng ) 4. Explainthe following achievement assessment tools 5
. .Q.E.mﬁ:om ] , . . .
«:c Team work : ) : (i) Ring toss game
SEIRET ¥ Wy Eﬂ@@m | : Gi) TAT (Thematic Apperception Test)
- e ..&ﬂ@@@@d... Eﬂ@@d%@%%&%%%n
(i) grovrg . ,
(i) 3 o o o
(iv) &
b i) AP TRAE %
Or | UNIT—HI
Write steps for estap e | o : (gPE—11)
the various oﬁﬁo§.~.m§n=ﬂ of enterpris ifferent types of
global market 2 Ities present o, e . What are 5. What is sunovation 7 Name difiere
) = ﬁﬁﬂﬂa ; ntrepreneyr in novations and ozv_mmn each in brief. 8
. T ffey . :
@ | 3Rae . & TaERt & T farfe
fere - & Ay TR 4 Fersfy ﬁﬂaqﬂw@@ﬁﬂaﬁz
g S g @ T RIS |
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6. .
What m.a the stages of product life cyc
production perspective ?

L (F@1—1v)
. Am ion gi
oam.mwwwm Mﬁw:nwv:oz given below select th
) 3%108&3@
(i) Public limited company
(iii) Section 8 company
(iv) Private limited company

9 RY T R 4 4 e

@ SRRy |
) ¥ By
11) €T 8 oy
() M s g
8. What js
public lim;
T mited and pubfic. fim:r pliie
‘W;wmﬂ Ited co
°S Ty R Rrfar ics sy \

le frop, t
e
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Or
(erore)
What is limited ljability partnership ? Explain.
A S writerdy @ar & ? @ @

Write in brief about the following institutional support
mechanisms for entrepreneur -

(i) NABARD

(ii) SIDBI

(iii) CSIDC

(iv) ) Banks

gl @ forg fmferea SRR

i 4 fafey

eI

" UNIT—V

(gore—V)
dered as fixed

e ﬁ. the following is const .

_ Which on
pany ?

capital of com

(i) Land

— .

=== S .

ANt

e —

IR eI ] o ———

TR TR AT
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(i) Debt

(iii) Raw material

(iv) Profit | _
U SR
7

11. mxﬁ_ms break-even point for m:% company. 7

i&i@@nwﬂﬁﬂqﬁ%g
BT |

12. Write about the source of finance for any company.

How can registering in share market ro_n easy finance |
of ooBvEJ\ ? a |

7
gﬂi%@m@%wﬂwﬂ@f&ﬁ

gﬂzwi_ﬁsﬁaﬁw%?wﬁﬁ%
[hdl & ?

[71
Or
(erren)
“Write about the following :
OF m_mxna capital

(i) Working capital

(iii) Subsidy

(iv) Cost of w.@.nﬁ

Preforia & r # fifg -
) o o

...E e G

: ?o .awm% :
cé %ggﬂ%_ SING]
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Dip. in Engg. (Sixth Semester)
EXAMINATION, Nov.-Dec., 2023
- (Scheme : NITTTR)

(Branch : Mechanical)
COMPUTER AIDED MODELLING AND
MANUFACTURING
Time : Three Hours | ~~ [ Maximum Marks : 70

[Mihimum Pass Marks : 25

Note : All questions are compﬁlsory, unless mentioned

P St i /i ) L W MRANC % A 0 T v M | L B by e 0 B s |

otherwise. In case.of any doubt ormdispute the

English version question should be treated as final.
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1. (a) Write definition of CAD.
Ps @ g forlge |

(b) Describe CAD Workstation and

‘ Py |
(c) What are various types of DNC Machines 9
advantages and limitations of DNC mach; 20 |
Ines, g.
%ﬂﬁz%czn W T § ? pne ey
@ am aik W i | |
2. 1
(@) Write name of six Editing commands
.- Q . : - N |
B URICT Fiew @ ferfery |
(b) whn
u at do yoy understand by top-d
ottom-up approach assembly ? i
Top down a7 b . A
ottom up 3yl 3RY _
s W SRIqelt ¥ 3 77 {
(©) Descri “
. cribe the wo=o§.=w..
() Extrude m

(i) Revolve
(iv) Log

Its configur, tiog

»83583

3 (@)

®)

&

©

[31
ww_@@a BT U BTG -
(i) TH¥gE
(i) Rdiea
(iii) ¥
(i) T
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What is plot ooE.Euau ? Define it. 2
wite wie Tl & 7§ uRfTa FRm |

What do you understand by drafting mode in
CAD? 4
e @ gifteT Ae | I T T 7
Explain the following :

(i) Plotscale

(ii) Plotarea

(iii) Plot offset

(iv) Print preview

Preferfae @ @re BT -

P.T.O.
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4. (a) Writethe applications of CNC turning Machine, ,
& va o), effr vl @ sua ferfyy |
(b) Bxplain the working of automatic tool change. 4

W g SoR @ FRITIN B W

(c) What are the elements of CNC. turning machine 9

Explam each in brief. | 8
W @ T aeie @ eﬂazm w0 g‘r ? T
ﬁwﬁw#wm;

5. (a) Write the apphcanon of CNC mlllmg machine. 2

vﬁvﬂvﬁﬁmwﬁaa&w&@m

(b) What are the elements of CNC mlllmg machine. 4

HIRGR: Y ﬁf%mﬁ?ﬂﬁfﬁm?m??

(c) I;‘,xplam different types of tool holders in. CNC

milling machine. | '8
mwﬁ.%#@wﬁﬁﬂwmv@@
BIeSY 1wy PITY |
o
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